S.S T2

SHSEE BENMAEERSRIEEALER
(Bf1: M. %)
Znm | wo [2R TEZOLH maEEE EAEEL SEAEEER 5 i 24924 L
o SEAE VPR K LB i SR A R B EE S N | (BR) 77— 2 X — X LR AT 25 T
R5.3.31 e |54 [ RBEEM R SR MRS (T4 Ty 7 B3 (BR) MRS T —H_R—2 o 98%5%7" 12,958,000 12,650,000 97.62
V&L (BR) ERER L B 27—
PN BT 514 BB 7?;;3\5%(21%(*%)
oo |pe o [TRANPNET(E BIPEA LR i 5% B PR 2 |AbESE 0 (K N o BEINPIET I PN 4625
R5.3.31 H2E |fHE4 = )T Ao 2 WEINA BIREFT AT 708NN % b 12,012,000 11,880,000 98.90
HEE R CR)
fete oy 1 = T [t T N Y = (ﬁ)éﬁf/ﬁrﬁ:ﬁﬂv\j g N — I PNIT I PN 4626
R5.3.31 E3T |F54 (PRI S B fE R HERR S BRSE SRR [FAAGRIR L35 (BR) W hn /N = 24T HIREHT AT 70NN b 13,277,000 13,178,000 99.25
(BR) 7 —H =2
H A AR AL
I ; . ks N (BK) BREERLSABFERT ) || e 3 - iR 26T . - A FLOSE 7 XA 1451
R5.3.31 | F4%5 |4 [RINANRTKEKEREREERZETE CURRATTIE A ST 2 S A B A EENC%Ry S TR0 B 1,641,200 1,639,000 99.87
(BR) A4 b ST
i&%ﬁ%%
arint gl = ==} AL RA R S e V= E]?,j: — =ru ﬂﬁ%ﬁﬁmﬁ?ﬁﬂﬂwmiﬁéq:
R5.5.17 | %575 484 |WRANPN i 55 A% e o g HURE 5% AR SRR V\?5912%§i{432] 3,872,000 3,740,000 96.59
BRI Ba—FV—yay
BT AT 70N
s | e . . N oLACER T3 (BR)  WRAININ & 2EPT _ RN PN BT SN PN 4625
e Sk = 2 i _
R5.5.17 | %675 |54 |/KEA—F—aBUEx TH (bK) AABY ) T 3T BRREAET AT 7R =i 6,776,000 6,655,000 98.21
TUYERR T (BR)
e
w1 |Ha (i S e AR \ R A AL T
R5.6.1 Fle (54 [N/ T T o R g L% S5 - B 56 ) S.ST 2K 107031 1,870,000 1,870,000 100.00
S.ST M
(bR B R B g@)}llﬁaﬁ
5] EE' > SR S =L %3 % %ﬁ%yui/ﬂ‘ﬁi B
R5.6.20 | #8% |¥54 %gmﬂgﬁ%ﬁ%ﬁm{mg&%%ﬁ AZTA—2— ACHEE E EAT Broe 7)o A MR *Lmﬁgigfﬁjﬁg%ﬁ 114,939,000 110,990,000 96.56
RPN AbifEE s
(R R VERT dbiEE )5
AV HAS— PR —NK) ALHE D S=— i | awyhry~w—HFFE—h L
R5.6.20 | 9% |54 |BRBI/LV—FUEA J 25 (BR) At /o 7 =—1h, m“'mﬂ(g;%%lﬁm 50,168,800 39,963,000 79.66
HAFv&e7—G RSt BIE T IB35
g Lkt
farany = =1 37 > - rpj%ﬁ D j: — =Ju Fﬁ%ﬁﬁﬁﬁﬂﬁﬁiﬁ#
R5.6.20 | Z{510% #6840 |FTRAE 5B G e 1% 57 P A ) SRR mng&&mzj 71,577,000 70,400,000 98.36




— AR
RANPA 2 (BN

WA BT 72 - F14608 3%

R5.6.20 | H12% |4 [ FERINNBRER S R T4 S5 4 FE 7 e S o 40,854,000 40,370,000 98.82
S.STZK
B> Bt L
R5.6.20 | #1375 |4 |[MERAMIEH LR %ﬁifﬁaﬂﬁ) FAT iR EHR *Lm’t”}tgyfgjmt;’g%m 16,445,000 15,378,000 93.51
7 ek as L Z ok
B> Bt L
R5.6.20 | #5145 |¥64 |EIEI2IGiETA R EHEHR %ﬁifﬁaﬂﬁ) (SRS S SR A m“'m%gl”ajﬂ 26,191,000 24,354,000 92.99
7 ek as YL Z ok
=L
R5.6.20 | %155 |54 [HREBEPCBE A A LT (f*)i l/_;éjzﬁJr(**) HAv iR *Lm’ﬁ”%?fgfg’fm 2,156,000 2,090,000 96.94
7 reidskas 2ok
s Al
S S N S FEQ LS
R5.6.20 | %165 [f54 [db=5M& R Tliisit EB &t (%{i‘;'i” i (YRR =50 & N R EJIIWS*EBTEE‘L 4,752,000 4,521,000 95.14
7 edax YL F b
A G R (N
17} e dn A XS A1 €i7ed 17} 15 =57
R5.6.20 | #5175 |44 %ﬂnmma%ymFﬁ%#&@z{:pmﬂdxl %@%%@W BB rmmmgiﬁ%%%é 15,730,000 15,510,000 98.60
S.S T2
— VAT R (N
=) 0o 2 B =y
R5.6.20 | H18% |[fE4 | REWIV/INEEIRER AR T %ijﬂ%%@(@ = AT m@%ﬂgg%%?ﬁfm: 6,017,000 5,940,000 98.72
S.S T2
— VAR R
] SRR 5] =237
R5.6.20 | #5195 |F64 | E RN I HIfRR T %’jﬂ%%@w S.ST 2 m@mﬁﬁuo?f%$ﬁ 13,024,000 12,815,000 98.40
S.S T2
T fiF AR 5 ( fﬁﬁ@g@
wrronm. |pe s |EAETEFNHHAFAR T F (No.301 - BANAN 1 o RN AT AN 318
R5.6.20 | {2075 |f54 309) S 3R 3 BRANPN R % Hy 5,533,000 5,478,000 99.01
S.S T2
T fiF AR 5 ( fi{?ﬁ@g@
w0 o |pe s |EETEBOR AR T (No.315- RN+ N RN AR AN P BT -3 Fn
R5.6.20 | &2l [f54 316) S5 45 95 S.ST ¥ 107031 12,617,000 12,430,000 98.52
S.S T2
NHT PR [ LN iﬁ*@g%ﬁﬁ%
oo |pes |BRINTNHET R B2 — LA b 21 1+ =, “n R AR AR N BT 7 s A
R5.6.20 | H22%5 |54 B 22l (5 Tk ﬁ%\@&@ = R 1501275 Hio 1,716,000 1,650,000 96.15
A A=V —vay
s E. |4 . — 1H RN+ 5 R R AT PN T 5= Fn
R5.6.20 | F23% |fi4 (IZAT-bAX— R K SE TF S5 31 B 7 S.ST M 107031 1,661,000 1,595,000 96.03

S.STEM




